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10.00AM to 1.00PM

COURSE TITLE: COST AND MANAGEMENT ACCOUNTING-I
CODE NO.: PBOA COM23 POt CCoML3
Notes: '

1. Right side of figures indicates full marks of Question.

2. Answer to the Two Sections should be written Separately in the same Answer
Book (Maximum Marks:70)

SECTION1

Q-1 |[A] HMT Co. manufactured and sold 1,000 watches in the previous year. Following | (12)
are the particulars obtained from the records of the company:

Rs.
Cost of materials 80,000
Wages paid 1,20,000
Manufacturing expenses 50,000
Office Expenses - 90,000
Selling expenses 30,000
Sales 400,000

The company plans to manufacture 1,200 additional watches in next year. You are
required to submit a statement showing the price at which watches would be sold so as
to show a profit of 10% on the selling price. The following additional information is
supplied to you: -

(a) The price of materials will rise by 20 percent on the previous year’s level,

(b) Wage rates will rise by S percent, : :

(¢) Manufacturing expenées will rise in. proportion to the combined cost of |

materials and wages.
(d) Selling expenses per unit will remain unchanged.
(e) Other expenses will remain unaffected by the rise in output.

[B] | What are the advantages of Cost Accounting? -' (05
Q1 | L
[A] | Give Meaning and at least one cxamples for the following terms: : 1(12)

Relevant Cost , Sunk Cost, Differential Cost, Marginal Cost, Out of Pocket Cost,
_ Imputed Cost and Future Costs. o ' '
[B] | Distinguish between Cost Accounting and Financial Accounting ' (05)

o (Pra).




Q-2 | A company has given following information : (10)
[A] Product A (Rs) Product B (Rs)
Fixed Overheads Rs. 10,000 p.a. Rs. 10,000 p.a.
Direct Material p.u. 20 25
Direct Labour p.u. 10 15
Variable overheads (100% of Direct Labour)
Selling Price P.u, 1 60 | 100
You are required to present a statement showing the marginal cost of each product and
recommend which of the following sales mixes should be adopted:
900 units of A & 600 units of B
1800 units of A only
1200 units of B only
1200 units of A & 400 units of B
[B] Distinguish between Marginal and Absorption Costing (08)
' OR -
Q-2 | The following is the standard cost data per unit of product X", (18)
Selling Price ' 40
Direct Material : 08
Direct Labor 05
Variable Factory Overhead : 02 .
Fixed factory overhead Rs. 5 (based on budgeted normal output of 36,000 units per
year). Variable selling overhead Rs. 6 per unit. Fixed selling overhead per year were
Rs.1,26,600. '
During a month the company produced 2000 units of the product and sold 1500 units.
There was no opening stock.
i Youare réquired to prepare an income statement under Absorption Costing & -
Marginal Costing. Explain the difference in Profit if any.
SECTION 1T . _
Q-3 | A company manufactures three types of products namely P, Q and R. The data (18)

relating to a period are as under:

Particulars ‘ P Q R
Machine Hours per unit : 10 18 14
Direct Labour Hours per unit @ Rs. 20 4 12 8
Direct material per unit (Rs.) 90 80 120
Production (units.) 3,000 5,000 20,000

Currently the company uses traditional costing method and absorbs all production
overheads on the basis of machine hours. The machine hour rate of overheads is Rs, 6

per hour.

The Company wants to use ABC S}}stem

Particulars _ p Q R
Batch Size (Units) 150 500 1000
No. of purchase orders per batch 3 10 8
No. of inspections per batch 5 4 3




The total production overheads are analyzed as under.

Machine set-up costs 20% 4—‘
Machine operation costs 30%
| Inspection Costs 40%
tLMaterial Procurement related costs - 10%
Required:
i. Calculate the cost per unit of each product using traditional method of
absorbing all production overheads on the basis of machine hours.
ii. Calculate the cost per unit of each product using ABC principles.
: OR L
Q-3 | Write note on :
Target Costing (0%
[ Kizen Costing 09)
Q-4 | What is Cost Audit? Discuss Types, Advantages and Disadvantages of Cost Audit, (17)

OR

Q-4 | Discuss Qualification, Disqualification, rights and duties of Cost Auditor as per latest 17)

provision.

CP19)




el 1

Y-

Al

. :';.E;!

(wn?

AU Syl uouGett ariui 1000 uBAe] Gulgol ua ARl 53 .
Buollsll 8§ uniell Amde Qotdl oA Y ®:
Ratd | 3

HIG "MLl - 0000

uydl 420000

GeulEel WA 40000

M EALTRNE) ¢0000

el Wil 30000

LRt ¥00000

$Uoll dotHl aiul 1200 ctilRtol uldauol doticleliofl Aolt tAd B, qAR el
Uz 10% oll olfl A A i usts dar sale] B, Aol attalell Wl dua
Y3l wiseuml wd 8:

(A) WGelt aAlott iR UR AHoll el 20 eslell artrl adl,
(elly Aetol €211 Y 25toll it 4l

(40) Grnteana Mibnmal) g0 Nl 2rgen etem dbg
@) yRe Qs Al W wuRalld 233 |
(8) Gewteat i At ol Ao wARMR 8 Frgz 4 6.

usad fganel) MeeidAl Sl otngl

(A?)

oy

vl

Y-
Rl

(o]

i -
HOE) ULl §EH) W clglan uea) - &leulnr WA

ofldott UE ol e BT Aol Wil Bl A GeigQt Ll 2wl

) 2| o-m-zrﬂ ML AL ( out oF pocket cost)
o fugmed) Msag |

usetz Bute st wpugla Bauoll dd dsiad ddizl,

(1?)

(04)

@)




w2 | buelld ol el Wil 2l &: (10)

[¥] e AU (3) cd o (3)
@2 lAwdl wal als 3.00000 ui{g& 31 oooo
el WML 20 Y o
At il W© W
afdet AW wal @l 1yl ot 100%)
asi €ls At Bud 50 100

12 €35 cle] ot Geutgotoll Alluict Usei? 9 sRallell Alc2ABAL B ol Astmiell
gall Aol Bsigl AUl RS ol ecnel 52,

A ¢00 oll Asll uA oll 500 ol W

s HA 1600 gl

U 1200 sl ofl

2 1200 Asl wal ofl ¥00 Asxl

o | fdid Usctz R Al uscr drall dgtcld AL 00)
_ w Yl _
Y2 | Beuiget X' e ol W@l visst oA wid 8. (1¢)

3

Qe Bua ¥0
Al A 0¢
el wegdl | oy

AR ¥sedl WlAwd wd o2

@12 3sedl AW v 3. u (€2 ail 36,000 WsHlell Gelleat UR ULRUR).

a@ct A QAW wal dAsu els 3. 6 .

£2 o @2 A dEudl wa 3@al 120000 B,

s 1Rl 1 $ucld 2000 Asil of Gulest 5 Auiel Auoo Al Al U3,
gl ol @5 ol aile.

c? auiRell usctz A Al USAR F50 AleLs UAS daue satsll %32 B, A
atau't 8 dslad @Ta dl & el

® Coro)




Qeuat-2

g suoll QL Ysieell crg PQ UA R of BUlEal 53 B, & 2idtoll Bl A widl B.

Y-3 (10)
(@Qotel P Q R
Wsu €le AlBs sas 2 10 14 ¥
asH €ls {lll Hyd seus | oy 12 0¢
@ 08w
Az €le A YMtol 0 ¢0 AL
Glest (A5 3000 1000 20000
acHtol Ml Susfl 3Bt Usdz uttfd ol Guallor 53D WA Geuleet ot AU wal Hallot
selts ol e o8l B, AW wa Hellet setts s 3. s AN .
uofl ygd 2Rl usd? ol Gualor seci WA 3.
{Qat P Q R
A wgn (@Wedl WO Yoo 1000
A €ls wfle w32 3 10 ¢
Ay €ls BoalsUel (dAUWM) | Y ¥ 3
56 Glleet ule Wl of [QeAug oA yore B,
Hollot e U UsdR 0%
Hellet 514008 (operation) USCR | 30%
AU USAR ¥0%
Hl@Hel Ronadl w@dlell usdz 10%
aell: _
(1) 3Bt uscl2 ULkl ol Gualol 53 625 drcoll Wsn €ls Usclz Mk,
(2) Ul wtRet useR ol Guallol 53l e¥s argell Asu €l usdr Al
UL |
U3 | el @ul;
() 8 USAR ©¢)
(o) $Bol USAR 5 (0¢)
Y¥ | usclR aisle Med 7 uscr 22 o ustd, slatel wal estael (1¢)
waaf
ARel? ofl Forels AR Usctz wdle? ol s, JREIUSIL , 55 ool 50 ol 2l (1€)

5.

(___K__

|




